






Start 

Choose PSO parameters 

Generate initial population 

Linearization and eigenvalue analysis 

Calculate fitness of particles in the 
current population 

Update pbest and gbest values 

Iter.$ter.max? 
Yes 

No 

The rustle 

Update the position and velocity for a 
particle according to PSO equations 

Stop 

Iter. = iter.+1 





Start 

Definition initiate of the problem, pp equation 
and select the NL, NV & N randomly 

Calculate the fitness 

Accumulative Fitness (AF) calculate by using DEO 
rule for neighborhood and alternatives 

Find the best location 

Calculate of probability based on AF set the following: 
best location probability = PP in the current loop 

Choosing next loop location based on probability 

Check the criteria 
for terminating 

Stop 

No 

Yes 
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